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Candidates should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.
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called for the written test based on the data furnished by you in the on-line application.
If you have wrongly entered information in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.
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You should sign the Call Letter (pasted with photograph) only in the presence of the
invigilator in the Examination Hall.
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The question paper is in the form of Question Booklet with 90 questions. A separate
OMR sheet is provided for answering the Questions.
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Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.
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Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately, failing
which the answer sheet will not be evaluated.
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Enter your Name and Roll Number correctly in the OMR answer sheet.

8. Fafag uder ug & v Mg degdr & 3MUR W 9R eall & HY aFds
gHR @ gelrl e @ Sad U el 3Rifeey ®7 ¥ @el gl

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.
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e I 8 §U HEl Ieail T AT A
You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.

10. TeE FE 3cal I TH 37 ;6T 3eal 9¥ 0.25 3 & AT e AR Ieal A
&l 9 A 3R Q|

Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.

11. frelt oY yeeT & fow &€ RFedl @1 3 9 Ical ITedd AT ST

Multiple answers for a question will be regarded as a wrong answer.

12. MwAR e #F ey gl sfaRed AR ofe vare s7e S S|
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

13, fafla gdier gier & 37ay Hoe, Fegeey, Hisse w3 3T sAFelieh
IYSROT, ST TR, FACH I, A T oAt oTer & S|
Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.
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Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.
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On completion of the test, (1) Hand Over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and

hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you
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Candidates are not permitted to leave the Examination Hall during the first one hour of
the examination.




Written Test for Technician ‘B" (Turner)

AT ‘B (&) & ue g faf@d afer

Question Paper No. : T/23001-B geeT I hHih : T/23001-B
Maximum Marks : 100 Maximum Duration 1.5 hours
Hgcad o7 : 100 Hecad afer 2 1.5 ©er
e 3eax faf@T Write the correct Answer:

LA

CNC & QU &1 #, N &l Adeld:
In full form of CNC, N means:

dla  #ggd / Neutral /b «Adde / Natural
@w/c el / Number gid  FgARE / Numerical

[] d&3 & #dee §:

[ ] is the symbal of:
Wa  WHdAT / Flatness d/b  HHEAT /Parallelism
Flc  @&ar / Perpendicularity g/d & 33¢ / Run Out

o fpe 3 ATFE H AW, @i () F card § FHA G E |

In this fit, shaft diameter is less than hole diameter.

3r/a i [Transition a/b  Ferai=a/Clearance

Flc SRR/ Interference zid g4 & @l / All of above

da e ds d g fs 9o mm g & T &

In three start thread, if lead is 9 mm then pitch is:

3/a 3 mm /b 6 mm

&hic 9 mm g/d 1 mm

aft eqg &7 AT 1:10 & d 10 mm @Ers & AR Sl dwhd mm &1 |

The ratio of taper is 1:10, than in 10 mm length the diameter difference is mm.
3/a 1 /b 10

&Fic 100 z/d 5

sin 45°%= )

Hla 12 /b 1/2

Flc 32 g/d 1

yadHe 8¢ (ele) ¥ carg @ fver gide & g ¥ de & U dee oF W
gfgearh STl € |
operation is carried out to enlarge existing drilled hole with a single point cutting

tool on a centre lathe.

37/a @@/ Boring afb el / Drilling

Flc Al / Knurling z/d  OfFT / Reaming

U 90 FF H 9 T g & fav AT g |

i _is the suitable gauge for checking the curved portion of given job.
3a g A/ Wire Gauge ab  IfZEw 997 / Radius Gauge

Fle  $aT A/ Filler Gauge z/d Tl I / Slip Gauge

1 Ti23001-B



10.
10.

1
11

12.
12

13.
13.

14.
14.

15.
15.

16.
16.

17.
1.7

18.
18.

AW H e 3y YT e & |

In Shaper is fixed and is reciprocated.

3fa o, Sila / Tool, Job @b Sild, gof /Job, Tool

Qoed & g & oot BB FTare Agcdd I F oY & FEd & |

Maximum diameter which can be turned between the centers is known as of the
lathe.

a g grATHIEY /[ Chuck Diameter /b ST ST / carriage Diameter

#/c  F¥Fer ST / Swing Diameter g/d 3 ¥ U &1 A48T / None of the above

CNC Al & Ay T8 A & a1 faster (Hehdl) & © |
In CNC machine is giving signal after measuring the motor speed.
3fa  UARIET / Encoder b TH S / Techo Generator

Fc HIR T/ Botha &b 3d 244 & ush st A€l / None of the above

T T H & FIW foorr s § |

Tool post is attached to ;

3a &% / bed /b MR §fFF / Gear Box
Fic  Twsd / spindle gd  FIS / carriage

300 second =

300 Vs =

3H/a 60° d/b 52

Fc 10 g/d  BIH § U 8 7T / None of Above
10 kg = g3z (Lb) |

10 kg = pound (Lb).

3/a 2.2 d/b 0.22

&ic 22 3/d 10

feueger & Ay & W fRemr S ¥ |

The spindle is fitted on the the lathe.

3a A wiF / Tail Stock ab  #% ¥& / Head Stock
®lc §5 [/ bed g/d IR ST / Gear Box
CNC &gl & FIZ F 39T WY @fa & e 8ar ¢
In CNC macine, __ ___code is used for linear movement.
3/a G0o0 d/b GO1

Eole G02 g/d GO03

Aedl TeIe 92 F &) vOud & 95 & 09 & 3707 & $6d &

In multi start thread the distance between two adjacent threads is known as:

a  gfelFd / Helix /b g / Lead
#/c T/ Pitch 3/d gcc# <A / Minor Diameter

S 398 @AT +0.15 mmatR rFT @A -0.05 mm g, a9 ged W el B

When upper deviation is +0.15 mm and lower deviation is -0.05 mm, than the tolerance on

the part is:
H/a 0.15 mm d/b 0.05 mm
/c 0.2 mm g/d 0.1 mm

2 T/23001-B



19.
19.

20.
20.

24,
21.

22,
22.

23.
23.

24.
24.

25,
25.

26.
26.

27.
27.

28.

28.

29.
29.

T ¥ AR AT FT AT

Sum of four angles of square is:

3/a 90° /b 180°

&ic 360° s/d 270°

Jeex Y W, od g & whfde & i @Y I F IO AT AT § |
rest is mounted on carriage of centre lathe while machining long jobs.

dla  <of ¥lE [ Tail Stock d/b ¥ T / Head Stock

Fic  wieEal / Follower z/d 243 ¥ ua 87 g / None of the above

FRE NS & AN & e et (FEey rJM)ﬁWﬁﬁﬁﬂ?ﬁ%|
Continuous chipis produced while machining of cast iron.
3a  HE [True b  Ied / False

O ST S w1 3T Ed gerit & e g ¢ |
Soft grinding wheel is used to grind hard materials.
3ra W& True @b ITod / False

mmﬁsﬁg\aﬁﬂ{wwm(ﬁﬂﬁawm)ﬁmmﬁl
Negative rack angle is providedon tungsten carbide tool.
Hla W [True d/b  9Tad / False

o7 3 of TENE F Thg F AU Hee qh T o0 WY § |
Colet chuck is the most accurate means of holding small work pieces
in the lathe.

3yfa  HEl [True gb  9od / False

zhaee 9 @1 Hiar @ror 60° g

The cutting angle of twist drill is 60°.

3Wa  Her /True a/b Iela / False
a W /True /b  ad / False

Y& T & dgeT Ul weE B dear ¢ |
With increase in rack angle, cutting force increases.
3fa  WET [True dg/b I [ False

tan0 &1 Fgeadd AeT 1 € |
The maximum value of tan@ is 1.
Hla  HE [True b Ida / False

T P e, T AR Ths & A, F dec g1Sa, N deC ged H e H SAE TR
(arfeFer) & & |

For the same centre distance, diameter and speed, Cross belt pulley drive give more power
compare to open belt drive.

F/a  Tar fTrue /b Ield /| False

%%Wm%maﬁiﬁwwmsﬁamﬁ\
Vernier caliper can also be used to measure depth of hole.

da e /True g/ Il / False
3 T/23001-B



30.
30.

31

31,

32.
32.

33.
33.

34,
34.

35.
35.

36.
36.

37.
37.

38.
38.

39.
39,

40.
40.

41.

W T PeTse A o a5 ST §

Surface plate is also made of granite.
3Fla  "E [True d/b  ed / False

U5 Hfear & et Ay 3T T 1w AT NS TF B SN ¥ 3 e e |

When cutting threads, half nut of the lathe apron engage and disengage the lead screw.
3a Wl /True d/b AT / False

WA GR & 3UANT oaTs JA9e & v gar ¥ |
Sine bar is used to measure length.
3dfa @l [Mrue /b AT / False

feqgel & Widdsy & dlg 30 V-selleh YT @M ST ¢ |
After removing the spindle, it should be rested on V-block.
da  EEl [True b Ied / False

AI¢ B & (AU {8 gof) F 3TAT F AW F A’ HR A e ¢ |
Left hand tool is used to carry out machining from left to right.
Hfa  HE [True /b el / False

e T W, Y & 3yaer gfafafd sell & o9 g & fav @ar ¢ |

A turret lathe is exiensively used for batch production of duplicate parts.
3a W [True @b Ired / False

CAleR H AeE! disT wATeT ol T 3TN BT ¢ |
Multi point cutting tool is used on planner.
dfa Y True ab  Fed / False

g & dgl W A IUTdear agaT Qe ¥ |

With increase in feed, surface finish improves.
3a @l [True a/b  Ield / False

HIges ¥el o AN o [T 3/ ™aaAs & 39901 &R S0 § |
Diamond can be used for machining of mild steel.
dla W MMrue d/b e / False

oo 3N Sile & er (Agen) @ 99 & e Felaeeg Hior fear sar ¢ |
Clearance angle is given to avoid rubbing of tool and job.
Hla TEr /True /b areld / False

fad e PHEeHAu Al & a9y derer F #eg &iar ¢ |

Quick return mechanism helps to increase the speed of shaper machine.

la  WE [True /b AT / False
1- cos?p = _ )

Ha  sing Fb  tan®

Fic  cot’d 2/d cosec’d

4 T/23001-B



42.
42.

43.
43.

44.
44,

45,
45.

46.
46.

47.
47.

48.
48.

49,
49.

50.
50.

GaTel ToIE & AT o Sidr § 3HR/39hT

The angle plate size is given by its

Hla  d@sid / Weight Fb  wars x 9is /length x width
#/c  @das /Length a/d  WSel A=Y /Size number
TEFA A T T §

Angle of acme thread is

jifa  55° ab  60°

Flc  45° gd  29°

ﬁﬁﬂtﬂ%n@ﬁ%ﬂ%ﬁv%ﬁmﬂﬁwwaﬂ%?

Which method is used for machining of very small tapers?

Ja  &FUEE TaEs Teufd b oo T e geyfd
Compound Slide method Tailstock off set method
H/c  WH Za /Form tool 3/d U ofeler vedde/Taper turning attachment

@ﬂﬁawﬁwmaﬁa(mmﬁ
The least count of steel rule in inch is

3/a 1/8 &/b 1/16

Ele 1/24 s/d 1/64

Zel § FEY WEd HEIT Col ALAS FleFT § ?

Which of the following cutting tool material is hardest?

3a g T8 ¥ /High Speed Steel &b 3Td Frda THigh Carbon Steel

w/c  Fauf@s/ceramic g/d @18 /Carbide a. b.

Which one of following needs eccentric turning?

= ¥ Ry T schd (vaafees) ) efefar &1 S gl ?

a " /b 1] s

187 & goRd 99T &I F6d &

1/1000 of an inch is known as

Hla  HESHIA /Micron /b e Hiex /Nano meter

&ic % /Thau g/d 3ila/onz

AT T 3HT o

The unit of density is:

dla  cmigm?® b kg/m?

®c  gm/m?® z/d a8 W s off 1§ / None of Above

e AsT 1 MHFR &
The shape of slip gauge is

3la  9leR /Square a/b  gdr/Circular
wc AT gl /Semi g/d e § UH 8 gl / None of Above

5 T/23001-B



51.
51.

52.

52.

53.
53.

54,
54,

55.
55.

56.

57.
57.

58.
58.

59.
59.

few v fox & diel § Ageanm dear g
Maximum no. of squares in the given figure is
a9 /b 13

Hic 14 s/d 10

afg 240 mm PCD WX 6 3¢ (@) fohd a1 § ar ) uedwr (Irq-urw &) &¢ & &9 & 3iax &

gram?

If 6 holes are drilled on PCD of 240 mm, what will be the centre distance between two

adjacent (nearest) holes?
H/a 30 mm €/b 60 mm
E e 120 mm 3/d 240 mm

The sentisiveness of spirit level depends upon

feaRe oder &1 adeselierdr & MR 36 W §

3a oo & A/ dfb TNy Tgd & g
Size of bubble Length of the glass tube
Hic  TAY T H 3id T U9 A @ &d @l YA
Curvature of the glass tube Type of liquid in glass tube

IS A & dod W), M Acd & Reay (Alems) -

With the increse in gauge number, the thickness of sheet metal -

3/a &edl & /Increases d/b FH giar § /Decreases

c/d WA IE&dl § /Remains constant 3/d g5 W UH 4T 781 None of above

A ALMeT 41 gy el o-

In shaper machine, the metal is removed during -

3la RS TH/Forward stroke /b el TEw /Return stroke

F/c gl (31) 3 (@) /Both (a) and (b) 3/d I3 W Uk T A&l / None of Above

V1226 =

3/a 25 g/b 35

Elv 45 g/d 15

SS304 #F &

SS304 contains

3i/a 8% Cr, 18% Ni d/b 18% Cr, 8% Fe
Ealo 18% Ni, 8% Fe g/d 18% Cr, 8% Ni

A & arg arg A wed 3w S wWis By & A g

Among the given following material which can be cut with highest cutting speed?

3/a @R A / Cast iron gb  THAETH /Aluminium
@®/c 3T dee T /High carbon speed g/d Wl (sieT)/Bronze

TE &T T A 0T FHA BT ST AHA §

We can reduce the fire by removing

3a A/ Oxygen b ZeA1/ Heat
®lc YT /fuel 3/d 3 O @5 o Anyof above

6 T/23001-B



60.
60.

61.
61.

62.

62.

63.

63.

64.

64.

65.
65.

66.
66.

Give the name of screw shown in figure.
R & R aw w1 & A 9T |
3/a  Hexagonal head Cap Screw a/b W& g8 HY T
SEHAT g3 HT T Socket Head Cap Screw
Flc W 88 FI ¥ /Cheese Head Cap Screw  s/d C'sk ¢8 ¥/ C'sk Head Screw

12 aory W ud & ol g AR adr g F 9 & AT E
The angle beween small hand and big hand at 12hours is
3a 90° /b 0°

Carle 180° =/d 270°

400 mm S AT O O T AT & e @97 sarw 50 mm 3R Sier s 40 mm g | afe
X 1 dar$ 200 mm ¥ ar ifwde gl |

Taper turning has to be done on 400 mm long shaft with a larger diametr 50 mm and
smaller diameter 40 mm. If the lenght of taper is 200 mm then find offset.

3/a 40 mm /b 10 mm

@ic 15 mm g/d 20 mm

The cutting speed of a cutter is 11 m/min. Find the diameter of the cutter rotates at 250
rpm. (n = 22/7)
U eX 1w €E 11 m/min. § | 3¢ FEX 250 rpm O B W § A e & cAghen |

(n = 22/7)
3i/a 28 mm d/b 14 mm
@/ 11 mm s/d 25 mm

Wwaﬁ‘rasaﬂ’Fﬂ?16.5m/min.%|uﬁma€rm21mm%a’rm%rpmaﬁv"\ |
(n=22/7)
The cutting speed of a cutter is 21 m/min. Find the rpm of cutter if diameter is 21 mm.

(n=22/7)
da 25 alb 250
#lc 2.5 zld 2500

1000 %. T 6% =S &7 U 5 Wiel & [ Tel ATt By A gl ?

The simple interest for the amount of Rs.1000 at 6% rate for 3 years is:
3/a Rs. 30 d/b Rs. 120

&ic Rs. 300 drg Rs. 240

frg & R@n v i &1 aaid gfev | p = 10 gmicm®. (n = 22/7)
Find the weight of the part shown in figure. p = 10 gmiem?®. (n = 22/7)
T g g mm #F few v & |Note:All dimensions are in mm.

¢ 35 x 100 mm length

P
— | ﬁ<
L ' \ @E\ & 14 x 30 Depth

3ifa 91.63 gm a/b 916.3 gm
&ic 91630 gm 3/d = & U A K None of above

7 T/23001-B



67.
67.

68.
68.

69.

69.

70.
70.

O # fear s 3R & 3R (TR R | = 22/7)

Find the area of the shape shown in figure.(n = 22/7)

=T G A9 mm 7 Gr aw § I[Note: All dimensions are in mm.
Ha 3500 mm? g/b 2250 mm?

Flc 5425 mm? g/d = ¥ us o SE7 None of above

Hﬁaﬂé?ﬁaHWSOF.ﬁmOE%Wﬁﬁmﬁ%@rm‘gﬁ?

If the prize of an item is increased to Rs 100 from Rs. 80, the % increase is?
da 333 % g/b 25 %

Flc 20 % g/d 30 %

39T de¢ gi5a A 100 mm AW H A A 1400 rpm WA I § | AR BEe gelr 350 rpm
W A T § Al 3Hel Sy gRev |

In open belt drive, the driver pulley of 100 mm is rotating with 1400 rpm. Find the diameter
of driven pulley If it is rotating with 350 rpm then.

3H/a 400 mm &b 200 mm
Hfc 100 mm s/d 350 mm /
_ : '4&1
T & fewrd arr 3R @1 oA g | 100
Find the perimeter of the shape shown in figure. 40|

A=t g Aamm#A 3T 910 § |Note:All dimensions are in mm. |
aly 120 mm d/b 180 mm
F/c 220 mm 3/d 320 mm

80

weed 71 & 90 F o, w1 & Ru 7% Rffea uar i T ¥ w8 A5 qqw:
From Question 71 to 90, Match making for the Different Types of Operations (Fig. 1):

71

72.

73

74.

75.

HiE/Facing
3/a ) d/b K
&h/c | d/ig M

gee¥aTer fdar/internal grooving
Hla D /b A
h/c P dis T

Figd efetar (wsfian)/Contour turning (profiling)
31/a Q d/b G
ic R dis E

qféar (el 371%)/Parting(cutting off)

Mla K d/b L
&/c M drs G
A9/ Threading

I/a N g/b A
&hic B dis D

8 T/23001-B



76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

>uy offT (FFaTSs T@sE)/Taper turning (Compound slide)

3f/a O d/b
&ic C d/ig

%y ¥ffd/Face grooving
3/a G d/b
&ic | drs

ceist gfaaPlunge grooving
Fa Q /b
Fic P d/is

¥ag efeter (F1eF gol) /Taper turning (Form tool)

H/a R d/b
Eole C drg

gy faerTaper turning
Hla C /b

&lc G dis

e efaa/Straight turning

Hla F d/b
& G dis
fgfefan/Drilling

H/a P d/b
&/c T dis

wf et & @1 el Turning with form tool

3la E /b
hic G d/s

zya efelaTube rning
Hla | /b
ic D drg

¥ 9fga/Tap threading
3la B /b
&ic T dis

F
R

{

S
D

F
D

L
C

N
P

geef 71 W 90 & fordr ™7 1

Fig. 1 for Q. 71 to 90

yar efiier (35a wow 3ifwde) /Taper turing (Tailstock offset)

3la C /b
@/c F d/s
@E1/Boring

37/a M /b

&lc P d/’g

O
R




88. Afear /Knurling
3i/a A d/b A
ol C d/ig D

89.  telor efeaI/Plunge turning
Hla T d/b G

%hic P d/is S

90. =g AfSar /Die threading

Ha B b N
hic P d/s T
I &
YU T {IES HT 3G IG FA & R TS |
Rough Work

You can use the side space of paper for rough work.

10
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